. OPTION-B
Paper : COM—-RE- 5066
(Indirect Tax Laws)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

(3RS @3 TS §ed )

1. Answer. the following as directed :
1x10=10

AR woe fal acee Tes o 8

(i) Indirect taxes are imposed on goods

and .
[ Fill in the plank with appropriate
word/words |
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(v) GSTIN is a unique :-

(ii) Excise duty is levied on the — qlglt
manufacture of excisable goods in number. |
India. (Fill in the blank with appropriate

[ State whether the statement is true word/words |
SRS S or false] _ GSTIN a1 &8l TR S |
" T T (T#3& ¥ W 12 979 F)

(iii)

(iv)

(Cfets! 0% @ o Gy 79

Cu
stoms area meang the area of a

[Fill in the pign with appropriate

(vi) Customs duty is levied by State
Government.
[ State .whether the statement is true

or false]

word/words | FIBT T 9IS HIFIR] BN WE®Io I )
Wwamj;qmﬂm S | (Cfeesr o& 1 wrom Swry 79
& g e 512 239 1) (viij — is the first country to

GST i .
< was Introduced i India with
eitect from jg¢ April, 2017

implement GST in the year 1954.
[Fill in the blank with appropriate

Stat
[ State whethe, the statement is true word/words |
oo o or false] Tz @dwdn (™ R 1954
SRS 201
GST 7 VR =i ot wiRew oA 5% GST AT R |
”W(I%WQ?“ (@WWWﬁWqW)
2@2357 ] =
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(viii) The : . .
‘ Is the Chairperson of 2. Answer the following questions : 2x5=10

the GST Council. e fam TeR forl ¢
ST © Al epNtRIRs s
[Fill in the blank with appropriate

word/words] (i) What is Value-Added Tax ?
A GS;‘ Council 3 57 R = | TR o S 5 T
(C17& 7 afer 315 979 790 | |
(ix) GS . . , -,
) T r.letwork is a Government (i) Explain the term ‘Manufacture
organization, under Central Excise Act.
St ‘ : . ’
[ State whether the Statement is true @ SRR W TS TLATA
GST net or false | "R I
etwork 9Bi veFy
AL |
(Tl % ¢ Wt;ﬁ Sozre 791) (iii) What is ‘Safeguard Dqty’ undef' the

() Under GsT Customs Act ?
» A registered person is . - PN

not a taxable person

[ State whethe, the statement is true w1
GST3 fimy . ~ or false] (iv) What is ‘Input Tax Credit ?
SerE WAL A SpofD BT GOS W FF  f

(Tozsy % & wog Sy ) 2
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(v)

Mention any two salient features of
GSTN.

GSTN= Rz 75 Sy R
T =9 |

Answer any Sfour questions :

& meﬁﬁ?ﬂ

()

(it)

(iii)

A

5x4=20

Briefly explain gny ﬁve features of
Indirect taxes,

ARF ] 73367337 Wrm m E Ll
9

Write g short note on valuatlon of
excisable goods,

A

State any ﬁve ObJ

ectives of enactment
of Customs ACt

1962,

4 (Sem-5/CBCS) COMRE 5/RE 6/ o0

(iv)

(v)

i)

Briefly explain any five salient
features of Goods and Services Tax.

Explain the concept of Tax Invoice
under section 31 of the CGST Act,

2017.
CGST ®ifzH, 2017 3 41t 31-3 QS 9

1510 ISR IR IS

‘Write a brief note on the Threshold

Limits for.Registration under GST.
.o B afiFe AfEReR AR A A=

o HIoR &l

i ions :10x4=40
Answer the following questions :10x4

Wmm%@ﬁ*ﬂg

(i)

- i taxes
Describe the history of Indirect

in India.

SRefs AErF T oA 3
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Or /334t

What is composition scheme in GST ?

Mention any five persons who are not
eligible for composition scheme.

5+5=10
GSTX wfite wiftom 9y R =? |
T TR AR oy - o A
9 IS T 4|

4 (Sem-5/CBCS) COMRE 5/RE 6/ G 24 6000




